

District School Board of Pasco County

Bid Recommendation

Bid Title	JANITORIAL SUPPLIES MAINTENANCE DEPT.	Number of Vendors Notified	105
Bid Number	07-009-GF	Number of Bids Distributed	30
Date Solicited	03/15/2006	Number of Vendors Responding	10
Date Opened	04/04/2006	Number of Vendors Not Bidding	20
Date Board Presentation	06/20/2006	Number of Vendors Bidding	10
Total Savings	\$1,145.62	Grand Total of Bid	\$49,000.80

Recommendation: Recommend acceptance of bids as noted on attached bid tabulation sheet as lowest and best bids meeting written specifications.

Term of Contract: The bid is for the Central Warehouse's annual stock of janitorial supplies to be used throughout the District.

Notations and Exceptions: Recommend rejection of all lower bids for failure to meet one or more of the following written specifications: 1) If alternate is bid, written specifications must be submitted with bid documents, 2) sample required, 3) MSDS sheet must be submitted with bid documents, 4) failed committee testing.

JS-10: Recommend rejection of all alternate products submitted. Products submitted failed testing performed by Janitorial committee. Request permission to purchase on the open market.

DATE/TIME:

Notations and Exceptions: JS-41: Recommend rejection of all alternate products submitted. Products submitted were not USDA authorized. Request permission to purchase on the open market.

JS-46: Recommend rejection of all alternate products submitted. Products submitted failed testing performed by Janitorial committee. Request permission to purchase on the open market.

Offers from the vendors listed here in are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

**Bids Evaluated By:
Eddie Flicker, Custodial Coordinator
Janitorial Products Committee**

**Bids Prepared By:
Gail Fowler, CPPB Buyer**

**Reviewed and Authorized By:
Kendra D. Goodman, CPPB, Purchasing Agent**

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 4, 2006 2:30 PM		Pride Enterprises, Inc.		Peninsular Paper Company		Pyramid School Products		QVS, Inc.		ZEP Manufacturing Co.	
BID TITLE: JANITORIAL SUPPLIES		12425 28th St. N.		5101 E. Hanna Ave		6510 North 54th St.		238 Industrial Park Dr.		6510 River Rd.	
BID #07-009-GF		St. Petersburg, FL 33716		Tampa, FL 33610		Tampa, FL 33610		Soddy Daisy, TN 37379		Tampa, FL 33615	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JS-004	ROOM DEODORANT (200) (Alternate)	31.12	6,224.00	17.49	3,498.00	17.55	3,510.00	22.80	4,560.00	84.32	16,864.00
			Mango Fresh 64402604					F950127		113524 Metro Fresh	
JS-005	ALL PURPOSE CERAMIC CLEANER (300) (Alternate)	17.00	5,100.00	21.73	6,519.00	21.76	6,528.00	21.41	6,423.00	33.00	9,900.00
			Knockout Punch 64405404	Theochem 0413 Shur Oran	Theochem 0413	Theochem 0413		F950585		294024 FS Cleaner	
JS-009	FLUID ABSORBENT (1,200) (Alternate)	NB	NB	NB	NB	NB	NB	NB	NB	5.38	6,456.00
										176901 Chlor-Retain	
JS-10	NEUTRAL LIQUID HAND SOAP (750) REJECT (Alternate)	15.50	11,625.00	14.32	10,740.00	14.49	10,867.50	18.88	14,160.00	NB	NB
			Handy Suds Pink 64700404	Theochem P.A. Accent 124	Theochem 1243	Theochem 1243		F3325			
JS-11	WASHROOM CLEANER (300) (Alternate)	16.00	4,800.00	21.98	6,594.00	21.05	6,315.00	NB	NB	49.98	14,994.00
			Pine Germ RTU 64404412	Theochem TB Plus #0323	Theochem 0323	Theochem 0323				067901 Spiritz	
JS-16	BOWL CLEANER (100) (Alternate)	15.00	1,500.00	17.96	1,796.00	17.99	1,799.00	39.04	\$3,904.00	77.04	7,704.00
			Sunbrite 64801712	Theochem PMC 0943	Theochem 0943	Theochem 0943		F410014		184611 Ring Master	
JS-17	CLEANING TOWELS (150) (Alternate)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
JS-41	STAINELSS STEEL POLISH (100) REJECT (Alternate)	31.22	3,122.00	26.59	2,659.00	22.98	2,298.00	12.88	\$1,288.00	61.97	6,197.00
			Misty/Amrep A00141	Theochem S.S. Cleaner 252	Chase 433-4111	Chase 433-4111		F3362		10201 Spru Luster	
JS-44	LATEX RUBBER GLOVES MEDIUM (120) (Alternate)	3.70	444.00	NB	NB	3.36	403.20	NB	NB	NB	NB
			Impact 8448			Amercane 599M					
JS-46	CARPET SPOTTER (50) REJECT (Alternate)	41.50	2,075.00	17.51	875.50	17.53	876.50	NB	NB	68.04	3,402.00
			Misco Triple Action 6460271	Theochem 0346	Theochem 346	Theochem 346				078001 Break-Away	
JS-52	LIQUID HAND DISHWASHING DTGT. (300) (Alternate)	17.73	5,319.00	NB	NB	NB	NB	26.92	8,076.00	18.39	5,517.00
			Pot Scrub 64150725					Multi Purpose Prem.		FS Pot Scrub FS257553	
JS-55	SANITIZER/DISINFECTANT (350) (Alternate)	NB	NB	NB	NB	NB	NB	24.09	8,431.50	NB	NB
								DS-10 F3037			